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i @ B ——-—-—-—-—-—‘W:l 150+ 70 = 220
R C_Li) 274 174 - 220 = 54 There are 54 W beads
R = 70 -5 = & There are |6 mere R beads
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A8 ? 5x # 8 = Y40 for Child hckets
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® Afternem | vnit Be] m 314 - 66 = 248
HOVV\XV\% ~— 248 - 2': {24
bb She sold 124 bettles Tn The mGrm‘ng
v
m\xmn weite 2 units + 66 = 3%
Se 2vinits = 34— 6b = 248
| viald = 248 = Z = |24
Sie scld 124 betties in The MDrm‘n%
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BGOK Tvait I I} ﬁ“ 12 = q' - k ! ) .
2 2 - - 494 The book costs # 84
Pem 3x$28 = B S¢
a\k con write Yvnmtzs = ﬂ 12 :
| vait = #1125 = # 28
3 units = 3 x A28 = ¥ 84

The booik costs # 84
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@ 6?7: | . % ? 4% 12 = 48 Yumts = 4x 12 = 1S
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A\W

alternabvely

\
2 vntts = 24 )

- Yunits < 2% 24% =48



# lgo

e r [

i l #‘80—73'%0:#30

Y 830+ = FIS
R N P must give § 15 so The:
—_— M must give B15 +¢ R ( The;{
B 150 | each have #165)
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P lwwt g T90] | 4 vaits + |20 = 300
T I ) | 30 4 varts = 300-120 = I8C
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' vanit=z 180 = 4 = 45
€ ::]T{B P has 45 +40 + 45 + 40 = |70 shcless
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(2x45) + 80
The cﬁu&;ﬁm only as Ked about P's ameuat
(T has 45+ 40= 85 € has 46
Abcoks
l Vi 24+3=18 |
\j/;vc; E"i Theve are 8 greovps of 3 booKs
—_—_— He s[wvct 8 X $5 = 40 on The bocKs
? He had BUHO+#2 = #4142 at first

He sold 155 =15 = 140 cranges

40 = 7 = 20 There are 20 %‘raups ek 7 oranges
He sold Them for 20 x B2 = # 4o

He made BHO — $35 = 45
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PAUL TOHN #ivs -4 10 = # 35
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The gmeshon cnly asled how mucdch
. Tehmwd: 4
vaysyx/vd; ax#lo =930
Paul spent # 10
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B } J} nuinber of boys = 2204 =425 21279

2204 41379 — 925 = 354

G l;'____\/___~‘w = There are 354 moere boys
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Preblewe 30 300 em Firet It m= 1oocm
T — So 3m = 300cm
| l ! Vo)
T eEem "3 3x95 = 255
¢ 300 — 256 = %S
The remaining piece s 45 em long
Probiem 31 , - ‘
T : #luse+3 = pUSG
S fidss | ol
P | They each had 486 to start
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‘ Peter's bi'c.\/de cost B347

s (SA, p89-90) Prebiewd U hos §25 +H10 = #35
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#lo #1os5 - #2656 = #80
A | l | | A has 13;3\0 more Thaw L
[4C) hew h ®
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525+ #35 + 105 =#I;>S
Problow 17 He picked 257+ 493 = 750 cherries C
750 = 60 = 1500 % 100 = |5 Thete are 15 groups f 50
e
dewbie belh

IS X $3 = #4S5 He receved # 45
Problem | €

o x 214 = 460 oranges
He scld 460 — 15 = 9445
qus =3 = 315 There are 315 groups of 3
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e sold thew for 215 x # 1 = ¥ 315
He made #7315 — #2588 = §57



